



Vendor Ranking

Letting: CT260128 January 28, 2026 10:30 AM **Call Order:** 008 **Contract:** T3990
District: District 3 **Counties:** JEFFERSON **Fed Aid No:** D325054B
Contract Time: 300 AVAILABLE DAYS **Project(s):** 45081715201 (*)
Contract Desc: SR 30 (US 98) FROM WAKULLA CO LINE TO TAYLOR CO LINE

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ANDERSON COLUMBIA CO., INC.	Responsive	Winning bid	\$4,358,438.05	100.00%
2	CAPITAL ASPHALT INC	Responsive	Non-Winning Bid	\$4,776,152.98	109.58%
3	C.W. ROBERTS CONTRACTING, INC.	Responsive	Non-Winning Bid	\$4,782,834.92	109.74%
4	PEAVY & SON CONSTRUCTION CO., INC.	Responsive	Non-Winning Bid	\$5,331,216.65	122.32%
5	PIGOTT ASPHALT AND SITEWORK LLC	Responsive	Non-Winning Bid	\$5,394,054.40	123.76%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: CT260128 January 28, 2026 **Call Order:** 008 **Contract:** T3990
District: District 3 **Counties:** JEFFERSON **Fed Aid No:** D325054B
Contract Time: 300 AVAILABLE DAYS **Project(s):** 45081715201 (*)
Contract Descr: SR 30 (US 98) FROM WAKULLA CO LINE TO TAYLOR CO LINE

The Improvements under this Contract consist of milling, resurfacing, cross slope corrections, drainage improvements and a temporary on-site diversion for drainage work. Improvements also include signing and pavement markings on SR 30 (US 98) from Wakulla County line to Taylor County Line in Jefferson County.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0005 0101 1 MOBILIZATION 45081715201		(1.000) LS	277,423.95000	277,423.95	380,000.00000	380,000.00	238,000.00000	238,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC 45081715201		(300.000) DA (LS)	155,798.98000	155,798.98	145,000.00000	145,000.00	226,000.00000	226,000.00
0015 0102 2200 SPECIAL DETOUR- TEMPORARY PAVEMENT 45081715201		(2469.000) SY (LS)	9,909.16000	9,909.16	75,000.00000	75,000.00	5,000.00000	5,000.00
0020 0102 2300 SPECIAL DETOUR- TEMPORARY EARTHWORK/BASE 45081715201		(1865.000) CY (LS)	8,136.65000	8,136.65	110,000.00000	110,000.00	5,000.00000	5,000.00
0025 0102 60 WORK ZONE SIGN		5,545.000 ED	0.15000	831.75	0.30000	1,663.50	0.30000	1,663.50
0030 0102 71 15 TEMPORARY BARRIER, F&I, ANCHORED		1,210.000 LF	22.61000	27,358.10	40.00000	48,400.00	12.00000	14,520.00
0035 0102 71 25 TEMPORARY BARRIER, RELOCATE, ANCHORED		1,009.000 LF	7.70000	7,769.30	15.00000	15,135.00	5.00000	5,045.00



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 008

Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0040 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		12,838.000 ED	0.05000	641.90	0.15000	1,925.70	0.10000	1,283.80
0045 0102 78 1 TEMPORARY RAISED/RETROREFLECTIVE PAVEMENT MARKER, TYPE D		1,956.000 EA	5.61000	10,973.16	5.25000	10,269.00	5.60000	10,953.60
0050 0102 89 1 TEMPORARY CRASH CUSHION, REDIRECTIVE OPTION		8.000 LO	750.43000	6,003.44	1,050.00000	8,400.00	1,117.95000	8,943.60
0055 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		942.000 ED	7.58000	7,140.36	13.50000	12,717.00	14.55000	13,706.10
0060 0102115 TYPE III BARRICADE		30.000 ED	1.00000	30.00	1.50000	45.00	1.10000	33.00
0065 0102909 TEMPORARY RAISED RUMBLE STRIPS- PER DAY, INCLUDES ALL SETS AND RELOCATIONS		195.000 DA	5.64000	1,099.80	35.00000	6,825.00	33.55000	6,542.25
0070 0104 1 ARTIFICIAL COVERINGS /ROLLED EROSION CONTROL PRODUCTS		229.000 SY	11.21000	2,567.09	35.00000	8,015.00	10.55000	2,415.95
0075 0104 10 3 SEDIMENT BARRIER		32,594.000 LF	3.36000	109,515.84	2.00000	65,188.00	2.20000	71,706.80



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0080 0104 12 STAKED TURBIDITY BARRIER- NYLON REINFORCED PVC		1,240.000 LF	22.43000	27,813.20	12.00000	14,880.00	11.20000	13,888.00
0085 0104 15 SOIL TRACKING PREVENTION DEVICE		2.000 EA	280.36000	560.72	4,000.00000	8,000.00	3,009.60000	6,019.20
0090 0104 18 INLET PROTECTION SYSTEM		2.000 EA	392.50000	785.00	250.00000	500.00	167.70000	335.40
0095 0107 1 LITTER REMOVAL		654.750 AC	5.61000	3,673.15	15.00000	9,821.25	25.00000	16,368.75
0100 0107 2 MOWING		565.770 AC	5.61000	3,173.97	50.00000	28,288.50	25.00000	14,144.25
0105 0110 1 1 CLEARING & GRUBBING 45081715201		(0.010) AC (LS)	19,211.62000	19,211.62	10,000.00000	10,000.00	107,406.05000	107,406.05
0110 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		54.000 CY	55.94000	3,020.76	55.00000	2,970.00	46.40000	2,505.60
0115 0160 4 TYPE B STABILIZATION		55.000 SY	61.82000	3,400.10	50.00000	2,750.00	25.90000	1,424.50
0120 0285703 OPTIONAL BASE, BASE GROUP 03		821.000 SY	45.39000	37,265.19	25.00000	20,525.00	25.95000	21,304.95



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0125 0285709 OPTIONAL BASE, BASE GROUP 09		58.000 SY	73.52000	4,264.16	84.00000	4,872.00	114.55000	6,643.90
0130 0285711 OPTIONAL BASE, BASE GROUP 11		36.000 SY	246.15000	8,861.40	140.00000	5,040.00	210.30000	7,570.80
0135 0327 70 2 MILLING EXISTING ASPHALT PAVEMENT, 3 1/2" AVG DEPTH		141.000 SY	2.55000	359.55	25.00000	3,525.00	7.50000	1,057.50
0140 0327 70 4 MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH		99,923.000 SY	0.88000	87,932.24	1.25000	124,903.75	3.05000	304,765.15
0145 0327 70 5 MILLING EXISTING ASPHALT PAVEMENT, 2" AVG DEPTH		940.000 SY	1.76000	1,654.40	7.00000	6,580.00	2.35000	2,209.00
0150 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH		41,603.000 SY	0.78000	32,450.34	2.50000	104,007.50	2.25000	93,606.75
0155 0327 70 17 MILLING EXISTING ASPHALT PAVEMENT, 3 1/4" AVG DEPTH		2,029.000 SY	2.39000	4,849.31	3.50000	7,101.50	2.95000	5,985.55
0160 0334 1 53 SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, PG76-22		8,493.000 TN	159.57000	1,355,228.01	150.00000	1,273,950.00	136.00000	1,155,048.00
0165 0337 7 83 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-12.5, PG 76-22		12,271.100 TN	132.70000	1,628,374.97	140.00000	1,717,954.00	145.05000	1,779,923.06



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0170 0430175136 PIPE CULVERT, OPT MATERIAL, ROUND, 36"S/CD		77.000 LF	304.95000	23,481.15	420.00000	32,340.00	928.00000	71,456.00
0175 0430536100 STRAIGHT CONCRETE ENDWALLS, 36", SINGLE, 0 DEGREES, ROUND		1.000 EA	10,166.11000	10,166.11	12,500.00000	12,500.00	15,816.15000	15,816.15
0180 0430982138 MITERED END SECTION, OPTIONAL ROUND, 36" CD		1.000 EA	8,404.34000	8,404.34	8,650.00000	8,650.00	6,609.55000	6,609.55
0185 0530 3 4 RIPRAP, RUBBLE, F&I, DITCH LINING		8.000 TN	502.13000	4,017.04	420.00000	3,360.00	444.15000	3,553.20
0190 0530 74 BEDDING STONE		5.800 TN	543.96000	3,154.97	420.00000	2,436.00	299.80000	1,738.84
0195 0570 1 2 PERFORMANCE TURF, SOD		22,940.000 SY	1.12000	25,692.80	3.00000	68,820.00	3.20000	73,408.00
0200 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		4,739.000 EA	5.31000	25,164.09	5.25000	24,879.75	5.60000	26,538.40
0205 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"		37.696 GM	1,434.15000	54,061.72	1,415.00000	53,339.84	1,509.50000	56,902.11



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0210 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"		140.000 LF	5.31000	743.40	5.25000	735.00	5.60000	784.00
0215 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"		13.779 GM	1,434.15000	19,761.15	1,415.00000	19,497.29	1,508.75000	20,789.07
0220 0710 11231 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"		13.386 GM	743.63000	9,954.23	725.00000	9,704.85	782.50000	10,474.55
0225 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 45081715201		(1.000) LS	50,000.00000	50,000.00	50,000.00000	50,000.00	50,000.00000	50,000.00
0001 Roadway Section Totals:				\$4,082,678.57		\$4,520,514.43		\$4,489,089.88

SECTION: 0002 Signing								
0230 0546 72 3 GROUND-IN RUMBLE STRIPS, 8" SINUSOIDAL		22.152 GM	2,110.70000	46,756.23	1,500.00000	33,228.00	2,487.80000	55,109.75
0235 0700 1111 SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF		8.000 EA	478.05000	3,824.40	470.00000	3,760.00	503.05000	4,024.40
0240 0700 1112 SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12.0- 20.0 SF		4.000 EA	2,124.67000	8,498.68	2,100.00000	8,400.00	2,235.90000	8,943.60



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 008

Contract: T3990

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Signing								
0245 0700 1600 SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE		12.000 EA	42.49000	509.88	42.00000	504.00	44.70000	536.40
0250 0700 2111 MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF		2.000 EA	3,293.24000	6,586.48	3,200.00000	6,400.00	3,465.65000	6,931.30
0255 0700 2112 MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12.0- 20.0 SF		8.000 EA	4,143.10000	33,144.80	4,000.00000	32,000.00	4,360.00000	34,880.00
0260 0700 2600 MULTI-COLUMN GROUND SIGN ASSEMBLY, REMOVE		8.000 EA	265.58000	2,124.64	260.00000	2,080.00	279.50000	2,236.00
0265 0705 10 1 OBJECT MARKER, TYPE 1		3.000 EA	292.14000	876.42	285.00000	855.00	307.45000	922.35
0270 0705 10 2 OBJECT MARKER, TYPE 2		20.000 EA	69.05000	1,381.00	68.00000	1,360.00	72.65000	1,453.00
0275 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		1,327.000 EA	5.31000	7,046.37	5.25000	6,966.75	5.60000	7,431.20
0280 0710 90 PAINTED PAVEMENT MARKINGS, FINAL SURFACE 45081715201		(1.000) LS	39,415.73000	39,415.73	36,750.00000	36,750.00	39,141.95000	39,141.95



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 008

Contract: T3990

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) ANDERSON COLUMBIA CO., INC.		(2) CAPITAL ASPHALT INC		(3) C.W. ROBERTS CONTRACTING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Signing								
0285 0711 11125 THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK		56.000 LF	10.62000	594.72	10.50000	588.00	11.20000	627.20
0290 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"		14.824 GM	5,099.20000	75,590.54	5,000.00000	74,120.00	5,366.60000	79,554.48
0295 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"		5.228 GM	5,099.20000	26,658.62	5,000.00000	26,140.00	5,359.80000	28,021.03
0300 0711 16231 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"		5.354 GM	4,249.34000	22,750.97	4,200.00000	22,486.80	4,470.00000	23,932.38
0002 Signing Section Totals:				\$275,759.48		\$255,638.55		\$293,745.04
Contract Grand Totals:				\$4,358,438.05		\$4,776,152.98		4,782,834.92



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0005 0101 1 MOBILIZATION 45081715201		(1.000) LS	300,000.00000	300,000.00	500,000.00000	500,000.00		
0010 0102 1 MAINTENANCE OF TRAFFIC 45081715201		(300.000) DA (LS)	250,000.00000	250,000.00	185,000.00000	185,000.00		
0015 0102 2200 SPECIAL DETOUR- TEMPORARY PAVEMENT 45081715201		(2469.000) SY (LS)	40,000.00000	40,000.00	7,500.00000	7,500.00		
0020 0102 2300 SPECIAL DETOUR- TEMPORARY EARTHWORK/BASE 45081715201		(1865.000) CY (LS)	50,000.00000	50,000.00	5,000.00000	5,000.00		
0025 0102 60 WORK ZONE SIGN		5,545.000 ED	0.25000	1,386.25	0.30000	1,663.50		
0030 0102 71 15 TEMPORARY BARRIER, F&I, ANCHORED		1,210.000 LF	17.00000	20,570.00	1.00000	1,210.00		
0035 0102 71 25 TEMPORARY BARRIER, RELOCATE, ANCHORED		1,009.000 LF	10.00000	10,090.00	1.00000	1,009.00		
0040 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		12,838.000 ED	0.13000	1,668.94	4.00000	51,352.00		



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0045 0102 78 1 TEMPORARY RAISED/RETROREFLECTIVE PAVEMENT MARKER, TYPE D		1,956.000 EA	31.00000	60,636.00	5.00000	9,780.00		
0050 0102 89 1 TEMPORARY CRASH CUSHION, REDIRECTIVE OPTION		8.000 LO	1,030.00000	8,240.00	100.00000	800.00		
0055 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		942.000 ED	13.40000	12,622.80	1.00000	942.00		
0060 0102115 TYPE III BARRICADE		30.000 ED	1.03000	30.90	5.00000	150.00		
0065 0102909 TEMPORARY RAISED RUMBLE STRIPS- PER DAY, INCLUDES ALL SETS AND RELOCATIONS		195.000 DA	31.00000	6,045.00	25.00000	4,875.00		
0070 0104 1 ARTIFICIAL COVERINGS /ROLLED EROSION CONTROL PRODUCTS		229.000 SY	300.00000	68,700.00	5.00000	1,145.00		
0075 0104 10 3 SEDIMENT BARRIER		32,594.000 LF	5.00000	162,970.00	1.00000	32,594.00		
0080 0104 12 STAKED TURBIDITY BARRIER- NYLON REINFORCED PVC		1,240.000 LF	15.00000	18,600.00	1.00000	1,240.00		



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0085 0104 15 SOIL TRACKING PREVENTION DEVICE		2.000 EA	5,000.00000	10,000.00	1,500.00000	3,000.00		
0090 0104 18 INLET PROTECTION SYSTEM		2.000 EA	250.00000	500.00	150.00000	300.00		
0095 0107 1 LITTER REMOVAL		654.750 AC	60.00000	39,285.00	10.00000	6,547.50		
0100 0107 2 MOWING		565.770 AC	60.00000	33,946.20	40.00000	22,630.80		
0105 0110 1 1 CLEARING & GRUBBING 45081715201		(0.010) AC (LS)	20,000.00000	20,000.00	50,000.00000	50,000.00		
0110 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		54.000 CY	40.00000	2,160.00	150.00000	8,100.00		
0115 0160 4 TYPE B STABILIZATION		55.000 SY	10.00000	550.00	50.00000	2,750.00		
0120 0285703 OPTIONAL BASE, BASE GROUP 03		821.000 SY	30.00000	24,630.00	50.00000	41,050.00		
0125 0285709 OPTIONAL BASE, BASE GROUP 09		58.000 SY	35.00000	2,030.00	185.00000	10,730.00		



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0130 0285711 OPTIONAL BASE, BASE GROUP 11		36.000 SY	30.00000	1,080.00	250.00000	9,000.00		
0135 0327 70 2 MILLING EXISTING ASPHALT PAVEMENT, 3 1/2" AVG DEPTH		141.000 SY	3.00000	423.00	10.00000	1,410.00		
0140 0327 70 4 MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH		99,923.000 SY	2.55000	254,803.65	2.00000	199,846.00		
0145 0327 70 5 MILLING EXISTING ASPHALT PAVEMENT, 2" AVG DEPTH		940.000 SY	1.75000	1,645.00	5.00000	4,700.00		
0150 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH		41,603.000 SY	1.00000	41,603.00	1.90000	79,045.70		
0155 0327 70 17 MILLING EXISTING ASPHALT PAVEMENT, 3 1/4" AVG DEPTH		2,029.000 SY	3.00000	6,087.00	5.00000	10,145.00		
0160 0334 1 53 SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, PG76-22		8,493.000 TN	158.00000	1,341,894.00	171.00000	1,452,303.00		
0165 0337 7 83 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-12.5, PG 76-22		12,271.100 TN	158.00000	1,938,833.80	168.00000	2,061,544.80		
0170 0430175136 PIPE CULVERT, OPT MATERIAL, ROUND, 36"S/CD		77.000 LF	250.00000	19,250.00	600.00000	46,200.00		



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0175 0430536100 STRAIGHT CONCRETE ENDWALLS, 36", SINGLE, 0 DEGREES, ROUND		1.000 EA	20,000.00000	20,000.00	10,000.00000	10,000.00		
0180 0430982138 MITERED END SECTION, OPTIONAL ROUND, 36" CD		1.000 EA	7,000.00000	7,000.00	7,500.00000	7,500.00		
0185 0530 3 4 RIPRAP, RUBBLE, F&I, DITCH LINING		8.000 TN	150.00000	1,200.00	300.00000	2,400.00		
0190 0530 74 BEDDING STONE		5.800 TN	200.00000	1,160.00	300.00000	1,740.00		
0195 0570 1 2 PERFORMANCE TURF, SOD		22,940.000 SY	3.50000	80,290.00	4.00000	91,760.00		
0200 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		4,739.000 EA	4.65000	22,036.35	5.00000	23,695.00		
0205 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"		37.696 GM	1,545.00000	58,240.32	1,500.00000	56,544.00		
0210 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"		140.000 LF	3.61000	505.40	7.00000	980.00		



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0215 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"		13.779 GM	1,545.00000	21,288.56	1,500.00000	20,668.50		
0220 0710 11231 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"		13.386 GM	1,500.00000	20,079.00	1,000.00000	13,386.00		
0225 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 45081715201		(1.000) LS	50,000.00000	50,000.00	50,000.00000	50,000.00		
0001 Roadway Section Totals:				\$5,032,080.17		\$5,092,236.80		

SECTION: 0002 Signing								
0230 0546 72 3 GROUND-IN RUMBLE STRIPS, 8" SINUSOIDAL		22.152 GM	2,200.00000	48,734.40	1,450.00000	32,120.40		
0235 0700 1111 SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF		8.000 EA	565.00000	4,520.00	575.00000	4,600.00		
0240 0700 1112 SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12.0- 20.0 SF		4.000 EA	2,138.00000	8,552.00	2,100.00000	8,400.00		
0245 0700 1600 SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE		12.000 EA	67.00000	804.00	100.00000	1,200.00		



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Signing								
0250 0700 2111 MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF		2.000 EA	4,640.00000	9,280.00	5,000.00000	10,000.00		
0255 0700 2112 MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12.0- 20.0 SF		8.000 EA	5,871.00000	46,968.00	6,000.00000	48,000.00		
0260 0700 2600 MULTI-COLUMN GROUND SIGN ASSEMBLY, REMOVE		8.000 EA	465.00000	3,720.00	500.00000	4,000.00		
0265 0705 10 1 OBJECT MARKER, TYPE 1		3.000 EA	310.00000	930.00	350.00000	1,050.00		
0270 0705 10 2 OBJECT MARKER, TYPE 2		20.000 EA	180.00000	3,600.00	185.00000	3,700.00		
0275 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		1,327.000 EA	4.65000	6,170.55	5.00000	6,635.00		
0280 0710 90 PAINTED PAVEMENT MARKINGS, FINAL SURFACE 45081715201		(1.000) LS	40,170.00000	40,170.00	45,000.00000	45,000.00		
0285 0711 11125 THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK		56.000 LF	8.00000	448.00	13.00000	728.00		



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 008 Contract: T3990

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) PEAVY & SON CONSTRUCTION CO., INC.		(5) PIGOTT ASPHALT AND SITEWORK LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Signing								
0290 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"		14.824 GM	5,665.00000	83,977.96	5,600.00000	83,014.40		
0295 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"		5.228 GM	5,665.00000	29,616.62	5,600.00000	29,276.80		
0300 0711 16231 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"		5.354 GM	2,175.00000	11,644.95	4,500.00000	24,093.00		
0002 Signing Section Totals:				\$299,136.48		\$301,817.60		
Contract Grand Totals:				\$5,331,216.65		\$5,394,054.40		



Tabulation of Bids

Letting: CT260128 January 28, 2026 **Call Order:** 008 **Contract:** T3990

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

Certified in accordance with Code of Federal Regulations Title 23, Chapter 1, Subchapter G, Subsection 635.113(b).

A Mirza Reyazadeh

02/10/2026

Manager, Contracts Administration Office